
www.ronixtools.com

CORDLESS TOOLS

8608
Cordless Jigsaw



www.ronixtools.com

CORDLESS TOOLS

Number Name

1 Laser button
2 Cross pan head tapping 

screwST3×14
3 Knob locating pin spring
4 Laser switch assembly
5 Safety gear lever
6 Return spring plate
7 Dust block I
8 Quick clamping system
9 Upper slide
10 Snap ring for shaftφ8
11 Gear gasket 

φ15.5×φ8.5×0.5
12 pulley
13 Eccentric gear assembly
14 Adjusting shaft
15 Steel ball φ5.0
16 Knob locating pin spring
17 Adjusting knob
18 Balance weight
19 kingpinφ5×18
20 Support sheet
21 Needle bearing K081110
22 Left casing
23 Center support assembly
24 Push rod return spring
25 Bearing 6000zz-2RS
26 Switch push rod
27 Armature gear
28 Switch
29 Battery bracket
30 Fan blade

Number Name

31 Cross pan head screw M4×8
32 Spring washerφ4
33 Motor locating plate
34 Motor
35 Black light
36 Red light
37 Dust connector
38 Spanner sleeve
39 Base plate pressing plate
40 Hexagon socket head cap 

screw M5×25
41 Backing Plate of base plate
42 Cross countersunk head 

screw M4×6
43 Clamping CAM
44 Quick-fix wrench
45 Cam gasket
46 Spacing piece
47 Aluminum plate
48 Guide ruler locking button
49 Cross pan head tapping 

screwST4×34
50 Guide ruler assembly
51 Right casing
52 Guide pulley pin
53 kingpinφ4×28
54 Guide pulley
55 Knife lifting support
56 CirclipΦ3.5
57 white light

8608
Cordless Jigsaw


